ACHL 5H29H (&) 13:35~14:25 (B%2)
BDM 5H29H (&) 11:50~12:40 (%)
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(1) (a+5)(a-23) (2] (x+4)?
7 a?+8a-—15 7 x?+8x+16
4 a?+2a—15 4 x%+16
7 a®—2a-15 7 16x?
T g?—-8a-—15 T x*2+8x+8
(3] (x—1)2 4] +7NDExE-7)
7 ox?+x+1 7 x?
4 x?—x+1 4 x?—-49
v ox?+2x+1 7 x%+7x—49
T x2-2x+1 T x?—-7x—49
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sl (y-3)(v+3) el (a-3)(a+?d)
7yl 7 gt eia-
4 8" 16
A yi+y—= 4 a®+2a-2
4 4 16
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voyi-y—; v oat-a——
it yz—l T a2+la_i
2 16
(7] (2x+5)@2x—3) (M8] (Bx+2)?
7 4x? +4x — 15 7 6x?+12x +4
A4 2x?>+2x-—15 4 6x*>+6x+4
v 2x% 4 4x — 15 7 9x%+12x + 4
T 4x%+2x-—15 T 9x?+6x+4
(9] (x+y—-2)(x+y+3) (F110]) (x—y)x+y)+ (x+y)?
7 x*+y*+x+y-—6 7 2x? + 2y?
A4 x*+2xy+y*+x+y—6 A 2x%+ 2xy
7 x?24+y?—5x—5y—6 7 2xy
T x?2+2xy+y*—5x—-5y—6 T x?+y?



